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A wheel rotating about a fixed axis has been subjected to the torque shown in the figure. The
rotational inertia of the wheel is 2.0 kg m”. Calculate the angular velocity of the wheel at t = 4.0
s if the angular velocity att =0 is 10 rad/s.
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A 20.0-kg thin loop has a radids of 1.50 m and is rotating at 300 rev/min about an axis through
the rim as shown in the figure. What is the average power required to bring it to a stop in
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In the figure, two particles, each with mass m = 0.5 kg, are fastened to each other, and to a rotation axis at
point O, by two thin rigid rods. Each rod has length d = 2.0 m and mass M = 2.0 kg. The system is rotating at
constant angular velocity of 5.0 rad/s. Calculate the kinetic energy of the system.
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